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TOPIC -1

Properties of Metals and Non-Metals

B3 Revision Notes

Introduction
. Metals are mostly solids, possessing high density. They have high melting and . d
i i Properties of Metals an
boiling points. They are lustrous and sonorous. They are good conductors of heat Non-Metals
and electricity. page No. 42
5 Most of the metals are hard. However, some of the metals like sodium, potassium
are soft metals and can be easily cut with knife.
»  All metals are solids except Mercury, Caesium, Francium, Germanium and Gallium
: - . int. Galli L lonic compounds,
which are solids with low melting point. Gallium becomes liquid if kept on palm Metallurey and Corrosion
but Gallium has very high boiling point which makes it useful for high temperature =4 page No. 48

thermomelters,

Y
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»  Phyvical Properties:
| Property

l 1. Lustre

[ 2 Hanincss

{

P ——

|3 State

.
!

43

| Metals ]

' Metals have shining surface,

|

- They are generally hard.

- ® Except Sodium, Lithium and
Totassinm which are soft and can
be easily cut with knife,

; Exist as solids.

' ® Except Mercury that exists in

‘ Generally soft.

| _substance.

: -—r:fnn-Meulsm =

They do not have shining surface.
Except lodine,

® Except Diamond, a form of carbon
which is the hardest natural

Exist as solids or gases 7

e Except Bromine that exists in liquid.

_ | liquid. B ]
- Metals can be beaten into thin sheets.
| ® Gold, Silver and Aluminium are

) __h; __the most malleable metals,

| 4. Malleability Non-metals are non-malleable.

® They are brittle.

A Ductility _| Metals can be drawn into thin wires. | They are non-ductile.
& Condy@or ofheat& | Metals are good conductors of heat | Non-metals are poor conductors of heat
electriaty and electricity. and electricity.

e Except Graphite.
Non metals have low density and low

7. Density and .\iclting

Generally metals have high density

paint and high melting point. melting point.
¢ Except Sodium and Potassium
8. Sonorous Metals produce a sound on striking a | They are not sonorous.
| hard surface.
‘8. Onades f Metallic oxides are basic in nature. Non-metallic oxides are acidic in nature.

» Chemical Properties:
(A) Reaction with Air:

Scan to know

Metzls combine with oxygen to form metal oxide. m:re abgut
Metals ~ O, — Metal oxide this topic
Exzmples: EraE
1) 2Cu + 0,—2Cu0 %E
Copper (II) oxide (black) [ORs:
(5) 4A1 + 30, — 2AL,0, Metals and non
Aluminium oxide metals
(1) 2Mg + O, — 2MgO
Magnesium oxide

Dnfferent metals show different reactivity towards O,.
® Na and K react so vigorously with oxygen that they catch fire if kept in open. So they are kept immersed in
kerosene.
e Surfaces of Mg Al, Zn and Pb are covered with a thin layer of oxide which prevent them from further oxidation.
o Fe does not burn on heating but iron fillings burn vigorously.
¢ Cu does not burn but is coated with black copper (II) oxide.
¢ Auand Ag do not react with oxygen.
> Amphoteric Oxides: Metal oxides which react with both acids as well as bases to produce salt and water are called
amphoteric oxides.
Examples: Al,O, + 6HCl — 2AICl; + 3H,0
Aluminium
chloride
ALO; + 2NaOH — 2NaAlO, + H;,0
Sodium
aluminate

\

Reaction of Metals with Water:

Metal + Water — Metal oxide + Hydrogen

Metal oxide + Water — Metal hydroxide

Examples: 2Mg + 2H,0 - 2MgO + 2H,
Magnesium
oxide

(B)
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MgO + 11,0 = Mg(OH),
Magnesium
hyvdrovide
(©) Reaction of Metals with Solutions of other Metal Salts:
Metal A + Salt solution B —» Salt solution A + Metal B
»  Reactive metals can displace less reactive metals from th D+ Tt
Fe 4 CuSO,— FeSOy +
> All the metals do not react with the same rate. ‘Suu‘\c react very fast, some e mOder‘:it:ily v:ek;?reasf P reay
very slowly. The series of metals in decreasing order of reactivity is called reactivity 0[1; :l:t lh‘:yex"etl!: :bmems'
metals at the top (K at the top most) are most reactive whercas metals at the bottom (Pt ottom)
Toachve.

cir compounds in solution form.

Ieag

K> Na>Ca>Mg> Al > Zn > Fe>Sn> Pb,>H > Cu>Hg>Ag>Au>Tt
> Metals react with dilute acids to form salt and hydrogen gas. The metal replaces h.ydr ogen of the acid fO form gy
»  Agqua Regia is a minture of conc. HCl and conc. HNO, in the ratio of 3: 1. It can d|§solve gold anc‘i platinum, Aqy
Regia is a strong onidizing agent due to the formation of NOCI (Nitrosyl chloride) and chlorine produced t,

reaction of hwo adids.
One of them can be non-metal also, e.g., Brass is an allg

»  Alloysare homogeneous mixtures of two or more metals.
of copper and zinc. When a metal is alloyed with mercury, it is called an amalgam. . )
>  Metals in reactivity series, if placed above hydrogen, can displace hydrogen from dilute acids (HCl and H,50,).

So Mnemonics

Concept: Activity series of metals

Mnemonics: ;
Pooular Scientists Can Make A Zoo InThe Low Humid Country More Satisfactorily

Interpretation:

P - Potassium S - Sodium

C - Calaum M - Magnesium

A - Aluminium Z - Zinc

|- lron T-Tin

L - Lead H - Hydrogen

C - Copper M - Mercury

S - Silver - ]

+ Objective Type Questions 1 mark each

(i¥) Bubbles of hydrogen gas formed stick e

Multiple Choice Questions surface of calcium.

Q. 1. Which one of the following metals does not react (a) (i) and (iv) (b) (ii) and (iii)
with cold as well as hot water? (c) (i) and (ii) (d) (iii) and (iv)

() Na () = [NCERT Exen?
(c) Mg (d) Fe [NCERT Exemp.] Ans. Correctoption: (d)

Ans. Correct option : (d) Explanation: Calcium reacts slowly with Wo
Explanation: Metals like aluminium, zinc, iron The reaction forms calcium hydmxide, Ca(0 g
do not react with hot/cold water. They react with and hydrogen gas (H,). The calcium metal si
water only when water is in the form of steam. water and after an hour or so bubbles of hydroﬂﬁl
3Fe + 4H,0 — Fe,04 + 4H,. 1 are observed, stuck to the surface of the met®:

Q. 2. What happens when calcium is treated with water? Q. 3. Generally, non-metals are not lustrous. ich?

(i) It does not react with water. the following non-metal is lustrous?
(ii) It reacts violently with water. (a) Sulphur (b) Oxygen
(iii) It reacts less violently with water. (c) Nitrogen (d) Todine
[NCERT Ext?"
A
el
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Ane. Correct option : (d)

Explanation: lodine is a non-metal butitis lustrous,

1

Q. 4. An clement A is soft and can be cut with a knife.

This is very reactive to air and ¢a nnot be kept open
in air. It reacts \'igomusly with water, ldcnlify the
element from the following:
(a) Mg (b) Na
©FP (d) Ca [NCERT Exemp.]
Ans. Correct option : (b)
Explanation: Sodium is so soft that can be cut using
a knife. It reacts with OXygen or moisture present
in air readily and reacts with water vigorously.
Because of this sodium is stored in kerosene oil to
prevent any reaction or accident, 1

e Assertions and Reasons Type Questions

Directions: In the following questions, a statement
of assertion (A) is followed by a statement of
reason (R). Mark the correct choice as:

(2) Both assertion (A) and reason (R) are true and
reason (R) is the correct explanation of assertion
(A).

(b) Both assertion (A) and reason (R) are true but
reason (R) is not the correct explanation of
assertion (A).

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

Q.1. Assertion (A): When a piece of copper metal is
added to dilute sulphuric acid, the soluion turns
blue.

Reason (R): Copper reacts with dilute sulphuric
acid to form blue copper (1I) sulphate solution.

Ans. Correct option : (a)

Explanation: When a piece of copper metal is added
to dilute sulphuric acid, the solution turns blue. It is
because, copper reacts with dilute sulphuric acid to
form blue copper (II) sulphate solution. 1

Q. 2. Assertion (A): Metals are sonorous.

Reason (R): They are generally brittle in the solid
state; they break into pieces when hammered.

Q.1.The following observations were made by a
student on treating four metals B Q, R and S with
the given salt solutions: [C] [CBSE 2020]

Sample | MgSO, | Zn(NO,), [ CaSO, Na;SO,
(aq) (aq) (aq) (aq)
P No Reaction | Reaction | No .
reaction | occurs occurs reaction
Q Reaction | Reaction | Reaction | Reaction
occurs occurs occurs | occurs

¥ Short Answer Type Questions-I

Ans, Correct option :(c)
Explanation: Melals are sonorous, malleable and
ductile while non-metals are brittle. 1

Q.3. Assertion (A): Gas bubbles are observed when
sodium carbonate is added to dilute hydrochloric
acid.
Reason (R): Carbon dioxide is given off in the
reaction.

Ans. Correct option : (a)
Explanation: Gas bubbles are observed when
sodium carbonate is added to dilute hydrochloric
acid as CO, gas is released. 1

o Very Short Answer Type Questions

Q. 1. The compound obtained on reaction of iron with
steam is/are: (Rl [CBSE Delhi 2020]
Ans. Fe,0,
3Fe(s) + 4H,0(g) — Fe;0, (s) + 4H,(g) 1
Q. 2. An element ‘X’ reacts with O, to give a compound
with a high melting point. This compound is also
soluble in water. The element ‘X’ is likely to be:
[Delhi 2020
Ans. Calcium reacts with oxygen and form CaO which
has high melting point and is water soluble. 1
Q.3.Name a non-metal which is lustrous and a metal
which is non-lustrous. [DDE 2017]
Ans. Non-metal (lustrous) = Iodine M
Metal (non-lustrous) = Sodium (Na) Yat+ls
Q. 4. Why is gold a preferred metal for making jwellery?

(Any two reasons)
Ans. Due to the property of malleability, ductility and it
is lustrous (Any two) 12+

Q. 5. Which of the two, metal or non metal will form an
oxide which is basic in nature?
Ans. Metal, because metal oxides are basic in nature, 1

[BIQ. 6. How are oxides of metal different from oxides

of non metals in terms of their nature?
Ans. Metallic oxides are basic, few are amphoteric.
Non-metallic oxides are acidic, few are neutral.
Yt

R No Reaction | No No
reacton | occurs reaction | reaction

S No No No No
reaction | reaction reaction | reaction

Based on the above observations:
(a) Arrange the given samples in the increasing order
of reactivity
(b) Write the chemical formulae of products formed
when Q reacts with CuSO, solution.
Ans. (a) S>R>P>Q
(b) Cuand QSO, 2
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Q. 2 Give reasons:
@) ?hﬁ“““‘o gold and silver are used to make
Jewellery.
(b) Metals like sodium and potassium are stored
under oil. [AE] [CBSF Outside delhi 2019]

Ans. (a) Lustre, ductile, malleable, least reactive
(Any two) ¥3 + ¥4
(b) Na & K are highly reactive (in air & moisture).

|CBSE Marking Scheme, 2019] 2
Q. 3. Silver articles become black when kept in open for
some time, whereas copper vessels lose their shiny
brown surfaces and gain a green coat when kept
in open. Name the substances present in air with
which these metals react and write the name of the

products formed. [Outside Delhi 2019]
Ans.
Silver Sulphur in air Silver sulphide
Vit
Copper | Moisture an Copper
carbon dioxide carbonate
Yix4li=2

[CBSE Marking Scheme, 2019] 2

& Short Answer Type Questions-I|

Q. 1. What are amphoteric oxides? Give an example.
Write balanced chemical equations to justify your
answer.

(Rl [CBSE Board Outside Delhi, Set-I, 2019]

Ans. Amphoteric oxides: Metal oxides showing both
acidic and basic nature.

Example: A1,0;/ZnO
Al,O, + 6HCl — 2AICl, + 3H,0
ALO; + 2NaOH — 2NaAlO, + H,0
“B+¥+1+1
[CBSE Marking Scheme, 2019)

(or any other)

Detailed Answer:

Oxides of metals which have both acidic as well as

basic behaviour are known as amphoteric oxides.

Examples are aluminium oxide and zinc oxide.

Amphoteric oxides react with acids as well as base to

form salt and water. ZnO reacts with hydrochloric

acid (acid) to form zinc chloride (salt) and water
thus acting as basic oxide.

ZnO(s)+ 2HCl(ag) — ZnCl;(aq)+H,0(1)
Zinc Hydrochloric acid Zincchloride  Water
oxide (Acd) (Salt)

ZnO reacts with sodium hydroxide (base) to form
sodium zincate (salt) and water thus, acting as acidic
oxide.

Q. 4.Give reasons:
(a) Carbonate and sulphide ores are usually convertyg
. into oxides during the process of extraction.
(b) Aluminium is a highly reactive metal; stil] ity
widely used in making cooking utensils.
[0) [Outside Delhj 24
. N : l ﬁ.om itS o d
_(a) It is easier to obtain a meta xide
o ga)mpared to sulphide and carbonate ore.

(b) Aluminium forms a thicker protective oxide laye,
|CBSE Marking Scheme, 2019“

Q. 5. Give reasons for the following:
(i) Most metals conduct electricity well.
(ii) The reaction of iron (II1) oxide [Fe,O;] with heaty
aluminium is used to join cracked machine party
[CBSE Delhi 205y

Ans. (i) Metals have loosely bound electrons / Looge
electrons easily / free electrons.
(ii) Molten iron produced during reaction joins the
cracked machine parts.
[CBSE Marking Scheme, 2019)}

ZnO(S)+ 2NaOH(aq) — Na;ZnO,(aq)+H,0)
Zinc Sodium hydroxide Sodium zincate Wala
oxide (Base) (Salt)

1+1+41
Q. 2. You are given samples of three metals: Sodium,
magnesium and copper. Suggest any two activitie
to arrange them in order to their decreasing
reactivity. [Board Term-I, 201§
Different metals react with oxygen at different rates
e.g., Sodium (Na) and potassium (K) catch fire, if let
in open. Hence, these are the most reactive metad
To prevent accidental fires, these metals are ke
immersed in kerosene oil. Magnesium burns ind
only by heating. So, it is less reactive than sodiu?
and potassium. Copper (Cu) does not bumn &
heating but blister copper burns. Hence the ord
of reactivity of these metals with oxygen is:

Na > Mg > Cu.

Metals react with water to produce a metal oxid
and hydrogen gas. Sodium (Na) and potassi”
_(K) react violently with cold water. So the react®
is violent and exothermic. Magnesium (Mg) 4®
not react with cold water. It reacts with hot wat
Metals like lead, copper, silver do not react
water at all. The reactivity series of metals t0

water is:
14 +1

Ans.

Na > Mg > Cu.

1
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COMMONLY MADE ERROR

Students usually get confused with the
order of reactivity of metals.

Understand the concept of reactivity
of metals and how to arrange them in
increasing or decreasing order.

[AT]Q. 3. State reason for the following;

Q. 1. Ametal ‘M’ is stored under kerosene. It vigorously
catches fire, if a small piece of this metal is kept
open in air. Dissolution of this metal in water
releases great amount of energy and the metal
catches fire. The solution so formed turns red
litmus blue. [CBSE Outside Delhi 2020]

(a) Name the metal ‘M’.

(b) Write formula of the compound formed when this
metal is exposed to air.

(c) Why is metal ‘M’ stored under kerosene ?

(d) If oxide of this metal in treated with hydrochloric
acid, what would be the products?

(e) Write balanced equations for:
(i) Reaction of ‘M’ with air.
(ii) Reaction of ‘M’ with water.
(iii) Reaction of metal oxide with hydrochleric
acid.

Ans. (a) Metal M is sodium (Na).

(b) Formula of the compound formed is Na,O.
(c)Metals like sodium and potassium react with
oxygen so fast that they can catch fire if kept open.
Since, they are most reactive metals; they are always
kept immersed in kerosene oil to prevent accidental
fire.
(d) Sodium oxide reacts with hydrochloric acid to
produce sodium chloride and water.
(e) (i) Reaction with air:
4Na + O, - 2Na,0
(ii) Reaction with water:
2Na(s) + 2H,0O(l) — 2NaOH(aq) + H,(g) + heat
energy
(iii) Reaction of sodium oxide with HCl:
Na,O(s) + 2HCl(aq) — 2NaCl(aq) + H,0(l) e
1X5=

Q.2.(a) List in tabular form any three chemical
properties on the basis of which metals and non-

metals are differentiated.

v Long Answer Type Questions

(i) Non-metals cannot displace hydrogen from the
acids.
(ii) Hydrogen is not a metal, yet it is placed in the
activity series of metals.
(iii) Aluminium is more reactive than iron, yet its
corrosion is less than that of iron.
[ [Board Term-I, 2015]
Ans. (i) Non-metals are electron acceptors, they cannot
supply electrons so as to convert H* ion to H,(g).
(ii) Like metals, hydrogen can lose an electron to form
positive H* jon.
(iii) Aluminium reacts with oxygen in atmosphere and
forms a strong protective layer of oxide which
protects the metal from further corrosion, 141 + 1

S marks each

(b) State two ways to prevent the rusting of iron.
([B+([U] [Compartment Set 1, 2,3, 2018)
Ans. (a)

S. No. Metals Non-Metals

1. |Lose electrons to form |Gain electrons to
positive ions/ are elec- | form negative ions/
tropositive in nature. are electronegative
in nature.

2. |React with dilute acids | Do not react with
to liberate hydrogen gas. | dilute acids .

3. | Generally metal oxides Generally non-
are basic in nature, metal oxides are
acidic in nature.

(b) () Painting
(ii) Oiling
(iii) Galvanization
(vi) Alloying (or any other)
[CBSE Marking Scheme, 2018]5

COMMONLY MADE ERROR

O Students get confused and interchange
the properties of metals and non metals.

2 Don't get confused between acceptor and
gainer of electron concept.

2 Learn and understand the properties
of both metals and non metals with
examples. )
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lonic compounds, Metallurgy and Corrosion
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& Revision Notes

» lonic Compounds

The compounds formed by the transfer of electrons from a metal to a non-metal are called ionic compounds o
electrovalent compounds.

» Properties of lonic Compounds !
()  Fhysical nature: They are solid and hard, generally brittle. :
(ii) Melting and Boiling Point: They have high melting and boiling points. ‘
(iii) Solubility: Generally soluble in water and insoluble in solvents such as kerosene, petrol etc.

(iv) Conduction of electricity: lonic compounds conduct electricity in molten and solution form but not in solig
state. ‘

» Occurrence of Metals
.

Minerals: The elements or compounds which occur naturally in the earth’s crust are called minerals.

Ores: Minerals that contain very high percentage of particular metal and the metal can be profitably extracte
from it, such minerals are called ores.

Extraction of metals
It is the process of obtaining pure metal from its ore.
Extraction of metal can be classified into three steps:
1. Enrichment of ores or concentration of ores
2 Extraction of metal from the concentrated ores.
3. Refining of metal

Y

Ore
v,
Concentration of ore
MeLls Metals of Mettls of
of high medium low
reactivity reactivity reactivity
Electrcﬁysis of Sulphide
molten ore  Carbonate Sulphide ores
ore ore
Pure metal i Roasting
Calcination Roasting
| & | Metal
Oxide df metal Re; ing CEaa know
, mare about
Red :ICET;)IH to this topic

Purification of
metal

Fig: Steps involved in the extraction of metals from ores, Differance betwe!

metals an
no n-metd Is

» Alloys
” .
e An alloy is a homogeneous mixture of two or more metals or a metal and non-metal. It

is prepared by mixing the molten metals in definite proportions and then cooling the mixture at the roort
temperature.
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° li):\l\lp_lgs include;
S ANy T Constltuents
B _w\ﬁgt\_il\l_c;ss :ﬂ_}\jgl_“ o _I_rp_xl, c.u‘llt_m, nickel, chromium
o _l}_r:\._\‘.\‘_m____ ___“,,_,SQUP_"I and zine
L Bronze ] Copperandtin
L__%___S_plder ) B __,,_LS‘E‘,*E“‘! tin AJ

— |

»  Amalgam: An alloy in which mercury
amalgam and Silver amalgam )

i present as one of the constituents is known as amalgam. e.g. Sodium

Concept:

Mnemonics: Long Route, Short Route,
Medium Route

Interpretation:

Low Reactivity

Sulphide Ores Roasting

Metal Refining

Concépt:
Mnemonics: Cold Coffee Should Rearranged

Interpretation:
Carbonate Ores Calcination
Sulphide ores Roasting

How is it done on the GREENBOARD?

Q. Describe electrolytic refining of
copper with chemical equations.
Draw a well labelled diagram for
1t.

Ans. Step I: Electrolytic Refining:
This method is widely used as purifi-
cation of metals like zinc (Zn), copper
(Cu), aluminium (Al), chromium (Cr),
tin (Sn), lead (Pb), nickel (Ni) and gold
(Au).

Step II: In this process, impure metal
is used as anode, a strip of pure metal
is used as cathode and soluble salt of
metal is used as electrolyte. On pass-
ing electric current through the elec-
trolyte, cations move towards cath-
ode, gain electrons and pure metal
gets deposited on cathode.

Step III: In electrolytic refining of
copper, the impurities left behind at
anode called anode mud contains
valuable metals such as gold and
silver which can be recovered in the
native state.

Electrolytic refining
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v Objective Type Questions

o Multiple Cholce Questions

Q. 1. Which of the following metals exist in their native

state in nature?
(i) Cua (ii) Au
(iii) Zn (iv) Ag
(a) (@) and (id) (b) (ii) and (iii)

() (i) and (iv) (d) (iii) and (iv)

[NCERT Exemp.]

Ans. Correct option : (<)
Explanation: Metals such as gold and silver are
found as native metals.

Q. 2 Galvanization is a method of protecting iron from
rusting by coating with a thin layer of

(a) Gallium (b) Aluminjum
() Zinc (d) Silver
[NCERT Exemp.]

Ans. Correct option : (c)
Explanation: In the process of galvanization, iron
is covered by a coat of zinc. This layer of zinc pre-
vents iron from getting rusted.
Q.3.Which of the following metals are obtained by
electrolysis of their chlorides in molten state?
(i) Na (ii) Ca
(iii) Fe (iv)Cu
(a) (i) and (iv) (b) (iii) and (iv)
(©) () and (i) (d) (i) and (ii)
[NCERT Exemp.]
Ans. Correct option : (d)
Explanation: Sodium and caldum fall towards the
top of reactivity series. Since, sodium and calcium
are very reactive these metals cannot be reduced to
pure form from their oxides or carbonates.
Thus, sodium and caldum are obtained by the
process of electrolysis of their chlorides.
Q. 4. An electrolytic cell consists of
(i) positively charged cathode
(ii) negatively charged anode
(iii) positively charged anode
(iv) negatively charged cathode
(a) (i) and (i) (b) (iii) and (iv)
(c) (i) and (iii) (d) (ii) and (iv)
[NCERT Exemp.]
Ans. Correct option: (b)
Explanation: Positively charged ions are called
cations as they are deposited at negatively charged
pole. Negatively charged ions are called anions as
these are deposited at positively charged pole. That's
why the negatively charged pole is called cathode
and positively charged poleis called anode.
Q.5. Alloys are homogeneous mixtures of a metal
with a metal or non-metal. Which among the

Oswaal CBSE Question Rank Ch

o Solved Papers SCIENCE, Clasg -

apterwse & Toplowis

1 mark each

contain non-metal as one of jy

following alloys

ronslilucnls?
(a) Drass (b) Bronze
(d) Steel
(c) Amalgam S Exemp.]

Ans. Correct option: (d) .
Explanation: Steel is an alloy of iron and carbon,

Mixing of carbon gives strength to iron.
0 Assertions and Reasons Type Questions

Directions: In the following questions, a statement
of assertion (A) is followed b?f a statement of
reason (R). Mark the correct choice as:
(a) Both assertion (A) and reason (R) are true and
reason (R) is the correct explanation of assertion
(A)-
Both assertion (A) and reason (R) are true but rea-
son (R) is not the correct explanation of assertion
(A).
(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A)is false but reason (R) is true.
Q. 1. Assertion (A): A mineral is called ore, when metal
is extracted from it conveniently and economically.
Reason (R): All ores are minerals but all minerals
are not ores.
Correct option : (b)
Explanation: Minerals are naturally occuring
chemical substances in the earth’s crust obtained
by mining. But a mineral is called an ore only when
the metal can be extracted from it convenienty
and economically. Thus, all ores are minerals but
all minerals are not ores.
Q.2. Assertion (A): In the metallurgy of Al, purified
Al 0O, is mixed with Na,AlF, or CaF,.
Reason (R): It lowers the melting point of the
mixture and brings conductivity.
Correct option: (a)
Explanation: In the metallurgy of aluminium
purified Al,0;is mixed with Na,AlF or CaF; whidh
lowers the melting point of the mixture and bring
conductivity.
. Assertion (A): Usually the sulphide ore is convet*
ed to oxide before reduction.
Reason (R): Reduction of oxides occurs easier.
Correct option: (a)
Expla'nalion: Usually the sulphide ore is con\'fft“{
to oxide before reduction as oxides are easief 7
reduce,
Assertion (A): While the extraction of coppe? ™
of the steps involved is
Cu,S + 2Cu, 0 — 6Cu + S0,

(b)

Ans.

Ans,

Ans,

Q.4
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(Y Y Q . e H
Reason (R): In this rt‘.\clmn Cu,S is the reducing
agent whereas Cu,O s the oxidising agent.

Ans. Correct option : (¢)

v 24 .
Explanation: The Cu** ion in both the compounds
wets reduced while sulphur gets oxidised.

Q.5. Assertion (A): In alumino thermite process, the
metals like iron melts due to the heat evolved in
the reaction,

Reason (R): The reaction is:
ft‘:o_; + 21\1—\ A1103 + 2FE

Ans. Correct option: (a)

Explanation: Large amount of heat is evolved
which melts iron and can be used for welding,

e Very Short Answer Type Questions

Q. 1. Why do ionic compounds not conduct electricity
in solid state but conduct electricity in molten and
aqueous state? [CBSE SQP-2020]

Ans. Ionic compound do not conduct electricity in solid
state due to absence of free ions but they conduct
electridty in molten and aqueous state due to
presence of free ions. 1

Q. 1. Name a metal of medium reactivity and write three
main steps in the extraction of this metal from its

sulphide ore. [CBSE Outside Delhi 2019]
Ans. (i) Iron/ Zinc/ Lead (any one) 1
(ii) Concentration of ore Enrichment of ore )
(iif) Roasting / conversion of sulphide into oxide on
heating in air %

(iv) Reduction of metallic oxide to metal b

[CBSE Marking Scheme, 2019]

Q. 2 Explain the formation of Calcium Chloride with
the help of electron dot structure. (At numbers: Ca

=20; Cl =17) [CBSE SQP-2020]
Ans. Z E.C.

Ca 20 2,881

Cl 17 2,8,7,

v Short Answer Type Questions-I

Q.2.State thermite reaction giving the reaction
involved. [A] [Board 'l%rm-l] [Set (B1), 2010]
Ans. Reduction of iron oxide to iron by aluminium is
called thermite reaction. 1
Fe,0, + 2Al— 2Fe + Al,O, + Heat.
(B Q. 3. Why is painting on iron articles necessary?

Ans. Paint forms a protective coating on the surface
of iron. So, oxygen and moisture present in the
air cannot have a direct contact with the metal.
Therefore, surface gets protected against rusting. 1

Q. 4. Why carbon is not considered as a good reducing
agent while reducing alumina?

Ans. Because aluminium has greater affinity for oxygen
than for carbon, therefore carbon cannot reduce

alumina (Al,O;) to aluminium. 1

Q. 5. Show by equation, the product formed when zinc

carbonate is heated in absence of oxygen.
Ans. ZnO(s) and CO,(g} are formed.

ZnCO, _4 , 7ZnO + CO, 1

X X
x Cl x
x X
Ca:+ . ——>Ca+22[;xCxI§]
x CI%
X X
Ca*? 2Ccr
CaCl,

Q. 3. (a) Where does the metal aluminium, used in the
process, occurs in the reactivity series of metals?

(b) Name the substances that are getting oxidised and
reduced in the process. [CBSE Delhi 2020]
Ans. (a) As aluminium is more reactive than iron, so it is
placed above iron in the reactivity series. 7
(b) Aluminium is getting oxidised to aluminium oxide
and iron oxide is getting reduced to iron.

v Short Answer Type Questions-I|

Q. 1. What is thermit process? Where is this process
used? Write balanced chemical equation for the
reaction involved. [CBSE Delhi 2020]

Ans. Thermite reaction: Reaction in which iron oxide
reacts with aluminium to produce molten iron.

The thermite reaction is used to join railway tracks
or cracked machine parts.

This process is called thermite welding.

It is an exothermic process.

Fe,O,(s) + 2A1(s) — 2Fe(l) + Al ,04(s) + Heat
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. type of this ore. How can the
1 CRR Name the tyf (CRSE Of)

Mey
Q.2 An ore on treatment with dil. HCI gives the smell of rotter 201:!‘

be obtained from its concentrated ore?

Q.3 Paplaln fhe foloWon Ans. (a) In molten state, due to heat the electrostit®
(a) Sodium chloride is an ionic cor‘npound which does forces of attraction between the opposi
not conduct electricity in solid state, whereas it charged ions are overcome. So ions move >
conducts electricity in molten state as well as in its and conduct electricity. In aqueous solutions !
aqueous solution. o are free and conduct electricity. 4
(b) Reactivity of aluminium decreases if it is dipped (b) Due to the formation of a coating of alumini
in nitric acid. oxide / AL,O,. £
(c) Metals like calcium and magnesium are never (c) Reactive.metals like calcium and magnesiumfe
found in their free state in nature. easily with different elements and occur o
form of ores, 1+

Al (CBSE Board Delhi, Set- 111, 2019] g
e [CBSE Marking Schem® 20
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Detailed Answer:

(a) sodium chloride is an ionic compound formed b
ions \\‘f sodium (Na') and chlorine (C1). In solid
state, ions are fixed in position so no free vlvcl.mnq
are available to conduct clectricity. Whereas ilyl
molten state and aqueous solution of v.ud.ium
chloride, free electrons are available to c.onducl
clectricity.

(b) On dipping aluminium in nitric
alun}h‘\ium oxide is formed as nitric acid is a strong
oxidizing agent. The layer of aluminium oxide
prevents further reaction of aluminium due to
which the reactivity of aly minium decreases,

(c) Because these metals are highly reactive and read-
ily react with atmospherig oxygen and other gas,

. - 1+1+1
Q. 4. Given belcm: are the steps for the extraction of
copper from 1ts ore, Write the chemical equation of
the reactions involved in each case,
(i) Roasting of copper (1) sulphide
(ii) Reduction of copper (I) oxide with
niphide with copper (I)
(iii) Electrolytic refining

[ [CBSE Board Outside Delhi, Set- I1I, 2019]

acid, a layer of

Ans. () 2Cu;S +30, —Het, 50y 0 4950,

@ 2Cu0 +Cu,S —H, 60y + 50,

(iii) At anode: Cu — Cu?* + 2~
At Cathode: Cu?* + 26~ — Cy
(1 + 1+ (% + %)) [CBSE Marking Scheme, 2019]
Detailed Answer: o
(i) Roasting of copper (I) sulphide:
2CuzS(s) +30; (g) —H¥2y 2Cu,0(s) +250, (g)
Copper sulphide Copper oxide

'

Q.1 Carbon cannot reduce the oxides of sodium,
magnesium and aluminium to their respective
metals. Why? Where are these metals placed in the
reactivity series? How are these metals obtained
from their ores? Take an example to explain
the process of extraction along with chemical

equations. [CBSE Delhi 2020]
Ans. Metals which are placed high in the reactivity series
such as sodium, calcium, magnesium, aluminium
etc. are very reactive. These metals have high affinity
for oxygen than carbon. Therefore, these metals
cannot be obtained by reduction with carbon. For
such metals, electrolytic reduction process is used
for obtaining metal.
Electrolytic reduction of aluminium: Molten
aluminium oxide is electrolysed to produce pure
aluminium at the cathode while oxygen gas is
produced at the anode.

« Long Answer Type Questions

(i) Reduction of copper (1) ux}dc from copper (I)
sulphide:

2Cu30(s) +
Copper oxide

Heat

CuzS(s)  —==— 6Cu(s)+50,(g)

Copper sulphide
(iii) Electrolytic refining:
Atanode: Cu(s) - Cu®* (aq) + 2¢~
At cathode: Cu**(aq) + 2e~ — Cu(s) 1+1+1
Q. 5. What is Cinnabar ? How is a metal extracted from
cinnabar ? Explain briefly.
(Rl [CBSE Board Term-I, 2016]

Ans. Cinnabar (HgS) is an ore of mércury.
When Cinnabar, HgS is heated in air, it is first

converted into HgO, HgO is then reduced to Hg
on further heating.

2HgS + 30, —— 2HgO + 250,

A -
[CBSE Marking Scheme, 2016]

Detailed Answer:
¢ Cinnabar (HgS) is an ore of Mercury.
® The metals being less reactive can be obtained by
reducing their oxides to metals by heating alone.
So, when Cinnabar is heated in air, it first changes
into its oxide and then into mercury metal.

2HES(s) + 30,(5) = 2HgO(s) + 250,(g)
(Cinnabar) (Air) Mercury Sulphur
oxide . dioxide
2HgO() —5 Mg+ O
mercuric (I) oxide mercury metal oxygen

'

5 marks each

AP* + 3™ — Al (aluminium metal at the (-) cathode)
20™ - 4e” - O, (oxygen gas at the (+)anode)

1+1+1+2
Carbon
anode Copper
Iron )

Carbon lining
(cathode)
Outlet for
aluminium

Molten aluminium

| Electrolytic reduction of aluminium |

Q. 2. Write balanced chemical equations to explain what
happens, when
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um powderis heated with Mangang,,

(h Mercuric oxide s heated. i ‘c'i"'lhe'r:lzh:lt::?(l)]lowing reaction takes place:

i 1 . . ' 10X1Q€,

(ii) ﬁ::\‘leu;.e of cuprous oxide and cuprous sulphide is a0+ SAI(s) = 3Mn(l) + 2AL,04(s) + fie
(iii) Aluminium is reacted with manganese dioxide. (iv) Reaction of ferric oxide with aluminium: In y,

i : at i duced along wij
(iv) Ferric oxide is reduced with aluminium. reaction : alotof heal:f l:n pel;gl e fi :T:lh Molte,
(V) Zinc carbonate undergocs calcination. iron. This p'ro.CESS 0 e a0l metal
(AE] [CBSE Outside Delhi 2020] using aluminium POWES & agent j
i . ermite reac ;
Ans. (i) When mercury oxide is heated strongly, it known as th

reduces to mercury metal. Fe,05(8) + 2AleLvared Alz?l:e( s:i+':{8dat:
i, 254540, 1) Heating of carborate ores in the limited supy
2HgO =, 2Hg + O, ( )of air is known as calcination. During the Process,
(ii) When a mixture of copper oxide and copper carbon dioxide gas is released and metal oxide j;
sulphide is heated, pure copper is obtained. obtained.
2Cu,0 + Cu,S — 6Cu + SO, ZnCO, — ZnO + CO, 1x5=;

Q. 3. (i) By the transfer of electrons, illustrate the formation of bond in magnesium chloride and identify the jony

present in this compound.
(ii) Ionic compounds are solids. Give reasons. . al
(iii) With the help of a labelled diagram show the experimental set up of action of steam on a metal.
[Outside Delhi 20

Ans. (i) Formation of magnesium chloride:
Here, magnesium is a metal and chlorine is a non-metal. Magnesium atom loses two electrons to at.tain noble g
configuration and results in the formation of magnesium cation Mg2*. Similarly, chlorine atom gains electrontty
complete its octet and results in the formation of chloride anion CI~. Wher magnesium reacts wnth‘chlorine, two
electrons lost by magnesium atom are gained by two chlorine atoms. Mg?* and CI” being oppositely charged,

attract each other and held by strong electrostatic forces of attraction to exist as MgCl,.
Mg — Mg?* + 2e”
282 28
(Magnesium cation)
Cl-Cr
287 288
(Chloride anion)

x X

L—y ;
X X
x
XCLX
%X X

(ii) Due to the strong force of attraction between the positive and negative ions, ionic compounds are solid.

(iii) Reaction with steam: Metals like iron, zinc and aluminium react with steam to form corresponding oxide and
hydrogen gas.

X X
Mg: + -—’(Mgi*)[;Cl :}

Metal sample

Glass-wool
soaked in
water

«— Stand

Reaction of metal with steam 2417 }
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Q. 4 (a) Write electron dot structures of Ca (Atomic no.
20) and O (Atomic no, 8),

() Show the formation of calcium oxide by transfer of
clectrons,
(¢) Name the fons present in this compound.
() List  four important
compound.
Ans. () Ca=28820=2¢
@) Ca X+, O = Ca¥* X
NS, L .

characteristics  of  this
IAE] [Owtside Delhi 2020)

(¢) Caldum ions (Ca**) and oxygen ions (OF)
(d) Characteristics of calcium ovide (C a0):
() Quick lime is an amorphous white solid with a hi gh
melting point of about,
(i) It is a very stable compound and withstands high
temperatures.
(iii) In the presence of water, it forms slaked lime. This
process is called the slaking of lime.
Ca0+H;0 - Ca (OH),
(iv) It is an oxide that is basic in nature and forms salts
when it comes in contact with an acid.
CaO+H,;S0, - CaSO, + H,0

Q. 5. (a) Define the terms ‘alloy’ and ‘amalgam’.
Name the alloy used for welding electric wires
together. What are its constituents ?

(b) Name the constituents of the following alloys:
(i) Brass (ii) Stainless steel (iii) Bronze,
State one property in each of these alloys, which is
different from its main constituents.
[DDE 2017]
Ans. (a) An alloy is a homogeneous mixture of two or
more metals or a metal and a non-metal, mixed in
the molten state. Amalgam is an alloy of a metal
with mercury.
Solder is the alloy used for the welding of electric
wires. Tin and Lead are its constituents.
(b) (i) Brass - copper and zinc
(ii) Stainless steel - Iron, carbon, nickel, chromium
(iii) Bronze — copper and tin.
Brass and bronze have lower electrical conductivity
than their constituents. Stainless steel does not
corrode easily as iron does. 1+3+1

COMMONLY MADE ERROR

> Students get confused with metals
involved in forming alloys and their name.

> Make a list and learn the mixture of metals
of alloys with their names,

Q. 6. Metal X is found in nature as its sulphide XS. It is
used in the galvanisation of iron articles. Identify
the metal X. How will you convert this sulphide
ore into the metal? Explain with equations.

- |Al [CBSE sQP, 2020)

Ans, Metal X Is Zinc

The sulphide ore s first heated strongly in supply
of oxygen and changed into its oxide. This process
is called roasting,

2ZnS+30, —'42Zn0+250,

Zinc oxide is then reduced to zinc metal by heating
it with carbon. This process is called reduction.
2Zn0+C - 2Zn+CO,

[CBSE Marking Scheme, 20201 +1+1+1+1
Q. 7. State the reason for the following:
(i) Aluminium oxide is called an amphoteric oxide.

(ii) An iron strip dipped in a blue copper sulphate
solution turns blue pale green solution.

(iii) Hydrogen gas is not evolved when most metals
react with nitric acid.

(iv) Calcium does not occur in free state in nature.
(v) Sodium and potassium metals are kept immersed

under kerosene. [Board SQP, 2020}
Ans. (i) As it reacts with both acids as well as bases to
form salts.

(ii) Iron being more reactive than copper displaces
copper from copper sulphate to form green ferrous
sulphate solution.

(iii)) Nitric acid is a strong oxidising agent. Hydrogen gas
produced gets oxidised to H,0.
(iv) Calcium is a very reactive metal. It reacts with the

chemicals in surroundings and occurs in combined
state.

(v) Sodium and potassium are highly reactive metals
and react vigorously with oxygen in air and may
even catch fire. They do not react with kerosene.

[CBSE Marking Scheme, 2020]1+1+1+1+1

(A Q. 8. (a) Write chemical equations for the following
reactions:

(i) Calcium metal reacts with water.
(ii) Cinnabar is heated in the presence of air.
(iii) Manganese dioxide is heated with aluminium
powder.
(b) What are alloys ? List two properties of alloys.
(Al [CBSE Board Delhi, Set- 11, 2019

Ans. (a) (i) Ca+2H,0— Ca(OH), + H,

(i) 2Hgs + 30, —4L; 2HeO + 250,

(iii) 3MnO, + 4Al— 2A1,0, + 3Mn
(b) Alloys are homogeneous mixture of two or more
metals or a metal and a non metal.

Properties:

Alloys are stronger / harder / have low melting

point / more resistant to corrosion / some are

magnetic in nature, (Any two)
[CBSE Marking Scheme, 2019]3 + 2
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Q. 2, (i) How will you show experimentally that metals
are good conductors of heat.

(1) Describe the entraction of Mercury metal from its
ore Cinnabar (HgS). R+ .U [SQD 2018
Ans (i) Diagrams (consider from detailed answer)
Procedure
Observation: Heat is transferred from one end of
metal wire to the free end of wire which melts the
wax and pin falls shows metals conduct heat.
(D) Ore:  HgS - dnnabar
Roasting: ZHgS(s) + 304(g) - 2HgO(s) + 250,(g)
Reduction: 2HgO(s) —— 2Hg(l) + O,(g)
[CBSE Marking Scheme, 2018]5

tailed Answer

()

M

Metal wire
) «—TFree end of wire
i Pin
Wax

Metals are
conductors of heat

Procedure: Take an aluminium or copper wire
and fix this wire on a stand as shown in the figure
zbove. Attach pin to the free end of the wire with
the help of wax Heat the wire with the help of
bumner, candle or spirit lamp whatever available
near the place where it is fixed.

Observation: Heat is transferred from one end of
the metal wire to the free end of the wire, which
melts the wax and the pin falls.

Inference: This experiment shows that metals are
good conductors of heat and have high melting
points.

(ii) Refer SAQ, Q5 Short Answer Type-II.

COMMONLY MADE ERROR

- Students often give incorrect experimental

-
procedure and set-up. _
Students also get confused with the

techniques and equations involved In the
extraction of mercury metal.

b |

Ived Papers, SCIENCE Clas,
1 Fl ~x

se the diagrams thoroughly ang
learn the extraction methods of mercury,
copper and aluminium properly.

2 Practi

: i involved in th .
Q. 10. (i) Write the steps Envo e extrac;
(Bl of pure metals in the middle of the ach'vity seﬁt:

from their carbonate ores.

(ii) How is copper extracted from its sulphide gre
Explain the various steps supported by chemicy
equations. Draw labelled diagram for
electrolytic refining of copper.

[Al+U [Delhi/Outside Delhj, 2014

Ans. (i) (a) Calcination, (b) Reduction, () Purification
(in the given sequence only)
(ii) Sulphide ore of copper is heated in air.
2Cu,S + 30, = 2Cu,0 + 250,
2Cu,0 + Cu,S — 6Cu + SO,

(Note: Full marks to be awarded even when only

equations are written).

Labelled diagram of electrolytic refining of copper.
Key_ +e

Cathode ode

I Acidified
copper
sulphate
solution

Cult
Cu
Tank

Impurities
(anode mud)

Electrolytic refining of copper
CBSE Marking Scheme, 2018]’

COMMONLY MADE ERROR

Students usually write vague answers.
It seems they are confused about the
extraction methods involved.

Understand the concept of ore extraction
and the order of the steps involved in the
extraction and the equation separate’
for sulphide and oxide ores. Diagrams 3¢
equally important,

A
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&SP Visual Case-based Questions

Q. 1. Study the given table and answer any four questions from (a) to (e):
A student took the samples of four metals A, B, C and D and added following solutions one by one. The results
~ obtained have been tabulated as follows:

| Metal | Iron (II) Sulphate | Copper (II) Sulphate | Zinc Sulphate | Silver Nitrate
A | Noreaction Displacement - -
B | Displacement - No reaction -
" C | Noreaction No reaction No reaction Displacement
- D | Noreaction No reaction No reaction No reaction
(a) Choose the most reactive metal: Ans. () (i) B is the most reactive metal as it displaces iron
:l)-)&c ?1))1:) from its salt solution.
i . bl (b) (ii) B only
(b) Wlnch of the folloufmg will displace Cu from its B will displace Cu from CuSO, solution because Bis
solution of sulphate: more reachi
p 7 ve than copper.
(i) A only (ii) B only (©)@)B>A>C>D
(iii) Both A and B (iv) None of the above (d) (iv) Hyd
(c) Which is the correct decreasing order of reactivity? fv) y rogex_m
(B>A>C>D [{i()A>B>D>C () (i) Most reactive: C; Least reactive: B~ 1+1+1+1
([l D>B>A>C (ivB>A>D>C Q-2.When a silvery grey powder of a solid (A)
(d) The gas produced when dil. HCI is added to a mixed with a powder of solid (B) no reaction
reactive metal: ) zgci:m But if the mixture is ignited and liﬁht,gd
(i) Oxygen (ii) nitrogen 8 magnesium ribbon a reaction occurs Wi
(iii) hydrogen (iv) none of the above EVOIUtu_)n of large amount of heat forming produ
(e) On the basis of sequence of reactions, identify the (C)' which settles down as liquid metal and the
most and least reactive elements. soh'd pro.duct (D) formed floats on the liquid (C}
A+BX=>AX+B '(I‘Ch) In solid form reacts with moisture to form ﬂ_il5L
(C.)-;d ‘::t .r.; a(‘_;v: 2 Loast seactive: B : :oa:;(g);:nt:‘ :: l::at gen;rated during the ;cel;:rcl;mon
i : G e ! e reaction is used in we
e il o e i iy bk B
iii ‘A e N, answer any four qué
(iv) Most reactive: B; Least reactive: A from (a) to (). y

\
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(a) ldentify A and C?
(i)‘.‘\ =Aland C - Fe (i) A~Fe and C-A]
(i) A=Mg and C- A} (iv)A-Aland C-Cu
(b) Identify B and D which are oxides of:
({)B=Fe, D-Al () B-Mg, D-Al
(ili)B-Al D-Cu (iv) B~ Al D-Fe
() Amphoteric oxides are:
(i) Metal oxides which do not rea
reacts with bases,

(i) Metal oxides which reacts with both acids as
well as bases.

ct with acids but

(iii) Metal oxides which reacts with acids but do
not react with bases.

(iv) Metal oxides which shows no reaction with
either acids or bases,

(d) Which of the following is amphoteric in nature:
(i) Both aluminium oxide and zinc oxide
(ii) Only zinc oxide
(iii) Only aluminium oxide
(iv) Neither of them.

(e) The reaction in which heat is generated is called as:
(i) Exothermic reaction
(ii) Endothermic reaction
(iii) Decomposition reaction
(iv) Precipitation reaction

Ans. (@) () A- Aland C - Fe

(®) (1)) B = oxide of iron D - oxide of Al

(c) (i) Metal oxides which reacts with both acids as
well as bases.

(d) (1) Both aluminium oxide and zinc¢ oxide

(e) (i) Exothermic reaction 1+1+1+1
Q.3.Read the following passage and answer any four
questions from (a) to (e).
Sohan went door to door posing as a goldsmith.
He promised to bring back the glitter of old and
dull gold ornaments. An unsuspecting lady gave
a set of gold bangles to him which he dipped in a
particular solution. The bangles sparkled like new
but their weight was reduced drastically. The lady
was sad but after a futile argument, the man beat a
hasty retreat.
(2) Which of the following is used for dissolution of
gold?
(i) Hydrochloric acid
(ii) Sulphuric acid
(iii) Nitric acid
(iv) Aquaregia
(b) The composition of aqua-regia is
(i) DiL HCI: Conc. HNO, 3:1
(ii) Conc. HCI: Dil. HNO, 3:1
(iii) Conc. HCIL: Conc. HNO, 3:1
(iv) Dil. HCL: Dil. HNO, 3:1
(c) Which of the following is incorrect?
(i) Aqua regia is a strong oxidising agent.
(ii) Aqua regia is a strong reducing agent.
(iii) Aqua regia dissolves gold in it.
(iv) Aqua regia is a mixture of hydrochloric acid
and nitric acid.

(d) Aqua regia dissolves:
(1) Gold and platinum
(ii) Gold and silver
(1ii) Platinum and silver
(iv) Only gold

(e) Examples of Noble metals are:
(i) Gold (i) Silver
(i) Platinum (iv) All of the above

Ans. (a) Correct option: (d)

Explanation: Aqua Regia is a mixture of concen-
trated HNO, and concentrated HCL, It is used for
dissolution of gold.

(b) Correct option: (c)
Explanation: Aqua regia is a mixture of nitric acid
and hydrochloric acid, that is 3 part conc. HCl and
one part conc. HNO, (3: 1).

(c) (i) Aqua regia is a strong reducing agent.

(d) (i) gold and platinum

(e) (iv) all of the above 1+1+1+1

Q. 4. Read the passage and answer any four questions

from (a) to (e).
During extraction of metals, electrolytic refining is
used to obtain pure metals. During the process, the
impure metal is made the anode and a thin strip of
pure metal is made the cathode. The solution of
the metal salt is used as an electrolyte. On passing
the current through the electrolyte, the pure metal
from the anode dissolves from the electrolyte. An
equivalent of pure metal from the electrolyte is
deposited on the cathode.

(a) The process of purification of the metal obtained
after reduction, is called:
(i) Extraction (i) Refining
(iii) Froth floatation (iv) Electrolysis

(b) Which of the metals are refined by electrolytic
refining?

I Au IL Cu

IIL Na IV.K

(i) Tand II (ii) I and 111
(iii) T and I11 (iv) I and IV

(c) During electrolytic refining of zinc, it gets
(i) deposited on cathode.

(ii) deposited on anode.
(iii) deposited on cathode as well as anode.
(iv) remains in the solution.

(d) In electrolytic refining of copper, impure copper
act as and pure copper as i
(i) cathode , anode
(ii)) cathode, electrolyte
(iii)) anode , cathode
(iv) electrolyte, cathode

(e) Anode is electrode while cathode is
-electrode:

(i) negative, positive
(i) reducing, oxidising
(iii) both a and b

(iv) neither a norb
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Ans. (a) (i) Refining

(b) Correct option: (a)
E\Planalion: Metals like Cu, Zn, Ag and Au are
rehined by electrolytic refining.

(€) Correct option: (a)
Explanation: lons of zinc are positively charged,
thus while electrolytic refining of zine, zinc is
deposited at cathode (negatively charged pole).

(d) (iii) anode, cathode

(e) (iii) botha and b 1+141+1
Q.5.Read the given passage and answer any four
questions from (a) to (e).
Metallic Character:

The ability of an atom to donate electrons and form
positive ion (cation) is known as electro-positivity
or metallic character. Down the group, metallic
character increases due to increase in atomic size
and across the period, from left to right electro-
positivity decreases due to decrease in atomic size.
Non-Metallic Character:

The ability of an atom to accept electrons to form
a negative ion (anion) is called non-metallic
character or electronegativity. The elements having
high electro-negativity have a higher tendency to
gain electrons and form anion.

Down the group, electronegativity decreases due
to increase in atomic size and across the period,
from left to right electro -negativity increases due
to decrease in atomic size.
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(a) Which of the following correctly represents the
decreasing order of metallic character of Alkali
metals plotted in the graph?
(i) Cs>Rb>Li>Na>K (ii) K>Rb>Li>Na>Cs
(iii) Cs>Rb>K>Na>Li (iv) Cs>K>Rb>Na>Li
(b) Hydrogen is placed along with Alkali metals in
the modern periodic table though it shows non-
metallic character:
(i) as Hydrogen has one electron & readily loses
electron to form negative ion.

(ii) as Hydrogen can easily lose one electron like
alkali metals to form positive ion,

(iii) as Hydrogen can gain one electron easily like
Halogens to form negative ion.

(iv) as Hydrogen shows the properties of non-

metals.
(c)Which of the following has  highest
electronegativity? €]
i) F (i) C1
(iii) Br (iv) I
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i for the gradual ch
d) Identify the reason ange |
(d) electronegativity in halogens down the groyp,
(i) Electronegativity incn:ea:?es down the group dad
to decrease in atomic size.
(i) Electronegativity decreases down the :
due to decrease in tendency to lose electropg
(iii) Electronegativity dccre.:ases c!owﬂ the groy
due to increase in atomic radius/ te"dency B
gain electron decreases.
(iv) Electronegativity increases down the Broup
due to increase in forces of attractions betweey
nucleus & valence electrons.

(e) Which of the following reason correctly justifieg
that “Fluorine (72pm) has smaller atomic ragy,
than Lithium (152pm)”“? &
(i) F and Li are in the same group. Atomic Size
increases down the group

(ii) F and Li are in the same period. Atomic gz,
increases across the period due to increase in
number of shells

(iii) F and Li are in the same group. Atomic siz,
decreases down the group

(iv) F and Li are in the same period and across the
period atomic size/radius decreases from lefi
to right.

Ans. (a) (iii) Cs > Rb > K > Na > Li

(b) (ii) as Hydrogen can easily lose one electron like

alkali metals to form positive ion

(@ @F

(d) (iii) Electronegativity decreases down the group

due to increase in atomic radius/ tendency to gain

electron decreases.

(e) (iv) F and Li are in the same period and across

the period atomic size/radius decreases from left to

right. 1+1+1+1
Q. 6.1In a thermite reaction, a compound of iron reacts
with a metal.
(a) The metal used is: R
(i) Zinc (ii) Aluminium
(iii) Magnesium (iv) None of these.

(b) After completion of this reaction, a metal is
obtained in the molten state. Identify the metal:

(i) Zinc (ii) Aluminium
(iii) Iron (iv) Magnesium
(c) The correct equation to justify thermite reactionis:

(i) Fe,0, + 2A1 - 2Fe + Al,O, - Heat.
(ii) Fe,O, + 2A1 - 2Fe + Al20, + Heat.
(iii) ALO, + 2Fe — 2A] + Fe,0, + Heat.
(iv) Fe;0; + 2A1 - 2Fe + AL,
(d) The correct name for Fe,0, is: @
(i) Ferrous oxide (ii) Ferric oxide
(iii) Ferrous hydroxide  (iv) Ferric hydroxide
Ans. (ii) Aluminium
(b) (iii) Iron
(c) (ii) Fe,05 + 2A1 — 2Fe + Al,O;+ Heat.

(d) (ii) Ferric oxide 1+1+1+1

{
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& Know the Terms

» Mallt\.\.bilily‘: The ability of a metal due to which itcan be beaten into large thin sheets is called malleability.
$»  Ductility: Itis the ability of metal due to which it can be dr
iron can be drawn into wires, Silver, gold and pl
» Electrdcal conductance: It is the prope
presence of free electrons or mobile ele

awn into thin and long wires. Copper, aluminium and
atinum are highly ductile metals.

rty due to which electric current can pass through the metal. It is due to

ctrons, Copper, silver, gold and aluminium are good conductors of electricity. |
» Thermal conductivity: It is the property due

X to which metals can conduct heat. e.g., Copper, silver, aluminium,
gold and iron are good conductors of heat.

» Metallic lustre: Metals in their pure state have bright

» Sonorous: When metals are struck with a h
the metals are said to be sonorous,

» Ncutral_ oxxd‘cs: The oydcs which are neither acidic nor basic in nature, are known as Neutral oxides. They neither
react with acids nor with bases. Some non-metals form neutral oxides. Example CO, NO, N,0O etc.

» Metallurgy: All the processes involved in the extraction of metals from their ores and refining them for use, is
called metallurgy.

» Ore-dressing: It 1a a process of removing unwanted substances from the ore. This is also known as concentration
of the ore or enrichment of ore. It is usually done by hydraulic washing, magnetic separation or froth floatation
process.

» Froth floatation process: It is the process based on the principle that the mineral particles are more wetted by the
oil, whereas the gangue particles are wetted by water. Compressed air is bubbled through the mixture. As a result
of agitation, oil froth is formed which contains minerals which float on the top of water and can be separated easily.

» Gangue: The unwanted material present in the ores mined from earth is called Gangue. It needs to be removed
prior to the extraction process.

» Leaching: It makes use of difference in the chemical properties of minerals and gangue. The ore is treated with

suitable reagent which reacts with the ore, but not with the gangue. The purified ore is regenerated by sequence of

reactions. An example of leaching is Bayer’s method of obtaining pure aluminium oxide from Bauxite.

Roasting: It is the process in which ore is heated in the presence of air so as to obtain metal oxides, which can be

reduced easily to get free metal. Sulphide ores are converted into oxides by roasting.

2ZnS(s) + 30,(3) 2 2Zn0O(s) + 250,(g)

shining surfaces. This property is called metallic lustre.
ard substance, they produce sound. This property is called sonority and

Y

‘1

Calcination: It is the process of heating ore in absence of air so as to remove moisture, volatile impurities and to
convert carbonate ores into oxides.

ZnCO 5(s)—22 ZnO(s) + CO,(g)

v

Thermite process: It is a process in which molten metal oxides are treated with aluminium powder. It is highly
exothermic reaction. The molten metal obtained is used for welding of railway tracks or cracked machine parts.

2Al + Fe,0; — 2Fe  + ALO, + Heat

Aluminium  Haematite Molten iron Aluminium oxide

Refining: Itis a process of converting impure metal into pure metal by different processes depending on the nature
of metals. It is a process of purification of metal.
Flux: The substance which reacts with gangue to form a fusible mass which can easily be removed is known as flux.
e.g., CaO (Calcium oxide) is used as flux so as to remove 5i0, (Silica) as gangue.
Slag: The fusible mass formed by the reaction of flux and gangue is known as slag. Slag is lighter than molten
metal, hence floats over molten metal and can be easily removed. It prevents metal from oxidation.

A\

‘i

v

OSWAAL LEARNING TOOL

To learn from Oswaal Concept Video

Visit: It is showing invalid link OR Scan this code

G Scanned with OKEN Scanner



